MTH 130 Precalculus, Classwork 10 Fall 2014
(1) Simplify
(a) logs(27) B
(b) logy(3) =1\
(c) logs(V5) Y3
(d) logs(F5) ~Y2
(¢) logr(9) 27,
(f) In(e?) 9
(g) e Ak
(h) 2@ = cfﬂ\ (x*) - 11'
(i) e-l@ _ J“W"')

4 l/.x
(2) Find log,(4) to 3 decimal places.
' lfg:; (W) = !ﬁ_&) = 0-HL

(3) Solve ‘ QD(:,;)
(a) 2* =3 1= !q;('s) . %
(b) In(4 + z) = 3 Y+t =¢ ne g9
(c) In(x +2) = 3+ In(x) f‘,‘(‘[-tl)—-bf{l) =3
(d) €% + 4e* - 5= b(y__?__).__ )
_ e
l_{.x > C‘}
3
K= (:;:’ :

(") W5 =0
(ef"—v §) (=) = ©

-5 =l 2a=6.
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